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Sudoku
Sudoku is a num-
ber-placing puzzle 
based on a 9x9 
grid with several 
given numbers. The 
object is to place the 
numbers 1 to 9 in 
the empty spaces so 
that each row, each 
column and each 
3x3 box contains 
the same number only once. The difficulty level 
increases from Monday to Sunday.

Yesterday’s answer

ACROSS
1 Far from firm
5 Gelatin shaper
9 Craze
10 Spring sign
12 “Homage to 
Clio” poet
13 Horse’s 
cousin
14 Hurled 
weapon
16 Vault part
17 Game pieces
18 Waterfall
20 Z neighbor
22 Manipulative 
sort
23 Caravan stop
25 Bus. enve-
lope abbr.
28 Fly, e.g.
32 Troop group
34 Negative link
35 Ventilate
36 Spread 
throughout
38 Word sep-
arator
40 London paper
41 Tribal leader
42 Bakery 
workers
43 Sinuous fish
44 Suffers

DOWN
1 Mountain 
shrub
2 Start a new 
paragraph
3 Bearing
4 Magic cure
5 Challenges for 
mice
6 Valuable rock
7 Some October 
babies
8 Mock
9 Molten rock
11 Cavalry 
weapon
15 Part of the 
Earth facing the 

sun
19 Swear
21 Ann Darrow’s 
admirer
24 Resistance to 
change
25 Degrade
26 Diamond feat
27 Angry rant
29 Tooth layer
30 Software 
writers
31 Lock
33 Mimics
37 End of a 
famous boast
39 Cartoon 
frame
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